Candle Center - Infinite Algebra 2 Name

Double- and Half-Angle Identities Date
Use a double-angle identity to find the exact value of each expression.
1) sin 120° 2) tan 60°
4m 5w
3) cos — 4) sin —
3 3

Use a half-angle identity to find the exact value of each expression.

5) tan 45° 6) sin 165°

. Sm 8) cos 30°
7) sm?

Use a double-angle or half-angle identity to find the exact value of each expression.

2
9) cot = 10) cot &
3 3
5 12 t 60°
11) sec—7t ) co
12
13) cot 240° 5w

14) cot—
) 3

Period



7 1
15) sin QZ_E and 270° < @ < 360° 16) cos Bzg and 0° < @ <90°

Find sin 26
Find cosg fna s
2
4 0 . 245
17) cos Hzg and 270° < 6 < 360 18) cos 6 = and 0° < @ < 90°
Find sin 26 0
Find sin —
2
4 15
19) cos 6’=—g and 90° < @ < 180° 20) cos 0=—F and 180° < @ < 270°
Find sinﬁ Find tanﬁ
2 2
7 3r 4
2]) tan f=——and—< <27 22) cot6’=—alndfc<0<3—7t
24 2 3 2
. 0 Find sin 26
Find cot —
2
4
23) c0t0=§andn<6’<37n 24) tan6’=2and0<6’<§
Find cot 268 . )
Find sin —
2
) 3 3n 3v91 3
25) s1n0=—gand7<0<2n 26) cot 6 =— o1 and7n<9<2n

o
Find tan — Find sin ﬁ
2 2
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Use a double-angle identity to find the exact value of each expression.
1) sin 120° 2) tan 60°
N3 V3
2
4 5
3) cos hild 4) sin—Tc
3 3
1 N3
2 2

Use a half-angle identity to find the exact value of each expression.

5) tan 45° 6) sin 165°
! V6 -2
4
. Sm 8) cos 30°
7) sin—
° 3
1 2
2

Use a double-angle or half-angle identity to find the exact value of each expression.

2
9) cot = 10) cot &
3 3
V3 e
3 3
5 12) cot 60°
11) sec—7t ) co
12 NE
6+ 2 3
13) cot 240° 5w
14) COtT
V3
3 \3

Period



7 1
15) sin Qz—E and 270° < @ < 360° 16) cos 925 and 0° < @ <90°

) 6 Find sin 26
Find cos —
2 w2
LE 9
10
4 o o 25
17) cos Hzg and 270° < 8 < 360 18) cos 6 = and 0° < 8 < 90°
Find sin 26 0
Find sin —
ﬁ 2
25 \50 = 2045
10
4 15
19) cos @ = —g and 90° < @ < 180° 20) cos 6 = —E and 180° < @ < 270°
Find sinﬁ Find tanﬁ
2 2
3V 10 —4
10
7 3r 4
2l) tan @ =——and—< < 2w 22) cot6’=—alnd7c<0<3—7t
24 2 3 2
. 0 Find sin 26
Find cot —
2 24
-7 25
4
23) cot&zgandn<0<37n 24) tan6’=2and0<t9<%
Find cot 268 . )
Find sin —
7 2
24 \50 - 1045
10
) 3 3n 3V91 3
25) sin @ =—> and & < 6 < 2 26) cot 6 =— and = < 6 < 2m
5 2 91 2
o
Find tan — Find sin ﬁ
2 2
1 /35
3 10



